
 

Moorfield Primary School 

Star Bonds 

 

Level Focus Number of 

questions 

Time limit 

Star level 1 + bonds to 5 10 1 minute 

Star level 2 - bonds to 5 10 1 minute 

Star level 3 + bonds to 10 10 1 minute 

Star level 4 - bonds to 10 10 1 minute 

Star level 5 +- bonds to 10 20 2 minutes 

Star level 6 + bonds to 20 20 2 minutes 

Star level 7 - Bonds to 20 20 2 minutes 

Star level 8 +- bonds to 20 20 2 minutes 

 

Children to complete one test from level (A, B or C) and must gain 

full marks to move on.  

 

 

 

 

 

 

 

 

 

  



Star level 1 Test A 

1+4= 5+0= 

3+2= 2+3= 

1+1= 4+1= 

2+1= 2+2= 

3+1= 1+3= 

Star level 1 Test B 

2+3= 3+2= 

1+4= 1+1= 

4+1= 3+1= 

2+1= 5+0= 

1+3= 2+2= 

 

 

  



Star level 2 Test A 

4-3= 5-0= 

3-2= 5-4= 

1-1= 4-1= 

2-1= 2-2= 

3-1= 5-3= 

 

Star level 2 Test B 

5-4= 4-3= 

1-1= 2-1= 

5-0= 3-1= 

4-1= 3-2= 

5-3= 2-2= 

 

  



Star level 3 Test A 

3+4= 5+2= 

3+3= 2+4= 

1+8= 4+5= 

2+7= 3+2= 

3+7= 1+6= 

Star level 3 Test B 

2+4= 3+3= 

3+2= 2+7= 

4+5= 3+7= 

1+6= 1+8= 

5+2= 3+4= 

 

  



Star level 4 Test A 

7-4= 5-2= 

3-3= 6-4= 

8-1= 9-5= 

7-2= 5-2= 

10-7= 7-6= 

 

Star level 4 Test B 

7-6= 10-7= 

3-3= 8-1= 

6-4= 9-5= 

5-2= 7-4= 

7-2= 5-2= 

 

  



Star level 5 Test A 

9-6= 2+8= 

6-0= 6+3= 

10-6= 5+2= 

10-7= 3+4= 

9-1= 3+6= 

9-7= 1+5= 

9-2= 2+6= 

6-3= 7+3= 

7-2= 4+5= 

8-6= 4+6= 
 

Star level 5 Test B 

10-6= 3+4= 

10-7= 3+6= 

9-7= 5+2= 

9-2= 4+5= 

6-3= 4+6= 

7-2= 2+6= 

9-6= 7+3= 

6-0= 1+5= 

9-1= 2+8= 

8-6= 6+3=  
 

 



Star level 6 Test A 

9+6= 3+11= 

12+8= 11+5= 

9+7= 6+12= 

6+13= 7+8= 

6+10= 12+6= 

15+2= 7+9= 

8+6= 7+3= 

10+7= 8+9= 

3+14= 4+5= 

9+5= 4+6= 
 

Star level 6 Test B 

7+8= 6+13= 

12+6= 6+10= 

7+9= 15+2= 

10+7= 8+6= 

3+14= 3+11= 

9+5= 11+5= 

4+5= 6+12= 

4+6= 9+6= 

7+3= 12+8= 

8+9= 9+7= 

 

 



Star level 7 Test A 

9-6= 11-6= 

12-8= 11-5= 

9-7= 16-12= 

16-13= 17-8= 

16-10= 12-6= 

15-2= 9-9= 

8-6= 17-3= 

10-7= 18-9= 

13-3= 14-5= 

9-5= 14-6= 

 

Star level 7 Test B 

16-13= 8-6= 

16-10= 10-7= 

15-2= 13-3= 

9-5= 17-8= 

16-12= 12-6= 

11-6= 18-9= 

11-5= 14-5= 

14-6= 9-6= 

9-9= 12-8= 

17-3= 9-7= 

 

 



Star level 8 Test A 

9+6= 12-8= 

3+11= 9-7= 

6+12= 11-5= 

7+8= 16-10= 

6+13= 15-2= 

8+6= 12-6= 

3+14= 10-7= 

7+9= 18-8= 

7+3= 14-5= 

4+6= 19-5= 

 

Star level 8 Test B 

7+8= 16-10= 

6+13= 15-2= 

8+6= 18-8= 

7+3= 14-5= 

4+6= 19-5= 

3+14= 12-6= 

7+9= 10-7= 

9+6= 12-8= 

3+11= 9-7= 

6+12= 11-5= 

 


